i | e | ot | [l | coton | M| e | st | Tan | uen | s | Mo | s | oosemverions
E455 4v | a1 4(1) HF |200| 3 — | 100 |-1,540| 400 | 0,35MQ| 2 | Sélectods
E462 4 11 4(1) HF |200{ 3 oo i 100 = 500 | 045MQ| 2
E463 5 19 | 41,35) | P(4,1) | 250| 38 8.000 | 250 22 560  37.000 | 2,7
E499 3 8 4(1) BF [ 200| 02 | 03MQ = -16 | 8.000| 01 MQ| —
; BF {200 008 | 1MQ — -1,6 | 18.000 | 0,33 MQ| —
FZ1 2-2 32 | 13(0,25) R 280 | 50 — — m - e
F5 3% 2 4(1) P@) |300] 40 2.500 S ! -40 | 1.000 830 8 | Fotos
F10 3% 2 4(0,5) | P(l) [300| 30 5.000 = -18_ | 80O 1.800 | 5,5 | Fotos
F100 5 | 12 | 4(0,6) P(3) | 250 32 8.000 250 -16 500 | 60.000 | 2,5 | Fotos
F215 3 4 |250158) BF {150| 6,5 = = -6 900 7.500 | 1,7
F410 | 3+ 2 4(1) P(5,9) | 580| 48 7.000 = 36 | 800 2.500 4
r443_3 5* 12 4(2) | P(l1,5) | 550| 45 14.000 200 40 | 800 | 33000 | 3
F443 N B* 12 4(2) | P(12,9) | 300| 83 3.500 300 -40 450 | 20.000 | 3,9
P(13,4) | 550 45 12.000 200 | -30 650 | 30.000 { 3,2
F460 3 8 4(1,4) BF |250| 10 At i i 200 | 11.000 | 5,5
F104 3% 2 |7.5(1,8) | P(48) |450| 85 4.350 — -84 650 1.800 | 2,1
KBC1 | 223%* | 36 | 2(0,1) | D-BF 135 | 2,5 = - 4,8 Z 16.000 | 1
D-BF | 90| 1 e - 3 — 23.000 | 0,7
D-BF |135| 0,32 | 0,2MQ o -3 — == s
DBF | 90| 0,14 | 0,2MQ o 3 - - e
KB2 22 | 2 ' 2(0,09) D —| o8 L 45 = 4 7 5




